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1. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û¶ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé : 14 

ÈÛ•ÛÙ 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 

…ÛÈÛèÜ«Û (f) 10 8 15 35 10 5 12 2 

                     …¬ÛÈÛÛ 
 (a) ¾ÛµýÛïõ¶ÛÛ •Ûä̈ ÛþùÛéÌÛ ›÷¨ÛÛÈÛÛé. 
 (b) ¸ÛóÍÛÛÁõ¶ÛÛ ¾ÛÛ¸ÛÛé ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 

2. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Y ¶Ûà X ¸ÛÁõ¶Ûà Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ ¾ÛéÇÈÛÛé, šýÛÛÁéõ X = 40 ÐüÛéýÛ, ©ýÛÛÁé Y ¶Ûä× 
…Û•Û¨Û¶Û ïõÁõÛé :  14 

X 31 33 35 37 40 39 38 36 

Y 20 26 21 27 34 32 30 23 

     …¬ÛÈÛÛ 
 (a) ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 
 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 

Ýïõ¾Û©Û (`̀̀̀) 20 30 40 50 60 70 80 

¾ÛÛ×•Û (…éïõ¾Û) 80 70 60 50 40 30 20 
 

3. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ýÛÛé•ýÛ ÍÛæ̃ Ûïõ …Û×ïõ ÉÛÛéµÛÛé : 14 

ÈÛÍ©Ûä…Ûé 
…ÛµÛÛÁõ ÈÛÌÛÙ ˜ÛÛÅÛä ÈÛÌÛÙ 

Ýïõ¾Û©Û (p0) ›÷¬¬ÛÛé (q0) Ýïõ¾Û©Û (p1) ›÷¬¬ÛÛé (q1) 

A 2 80 4 60 

B 10 100 12 50 

C 7 140 8 100 

D 4 190 4 130 

                  …¬ÛÈÛÛ 
 (a) ÍÛæ̃ Ûïõ …Û×ïõ¶Ûà Áõ˜Û¶ÛÛ ÍÛ¾Û›ÛÈÛÛé. 
 (b) …ÛþùÉÛÙ ÍÛæ̃ Ûïõ…Û×ïõ ¾ÛÛ¤éø¶ÛÛ ïõÛÅÛ ÜÈÛ¸ÛýÛÛÙÍÛ …¶Ûé ¸Ûþ ùÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
 

4. ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ¸Û±ùÜ©Û¶ÛÛ ºõÛýÛþùÛ •ÛéÁõºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé, ©Û¬ÛÛ ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ªÛ¨Û ÈÛÌÛÙ¶Ûà ˜ÛÜÅÛ©Û 
ÍÛÁéõÁõÛÉÛ ©Û¬ÛÛ …Å¸ÛïõÛÜÅÛ¶Û ÈÛµÛ–Û¤ø ÉÛÛéµÛÛé : 14 

ÈÛÌÛÙ 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 

ÈÛé̃ ÛÛ¨Û (`̀̀̀ ÅÛÛ”Û¾ÛÛ×) 27 29 34 52 58 64 93 92 98 102 110 

       …¬ÛÈÛÛ 
 (a) ÍÛÛ¾ÛÜýÛïõ ËÛé̈ Ûà¶ÛÛ –Û¤øïõÛé ÈÛ¨ÛÙÈÛÛé. 
 (b) ÈÛÅÛ¨Û ÉÛÛéµÛÈÛÛ¶Ûà ïõÛé̂ ¸Û¨Û …éïõ ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 



NH2-107 2  

5. ¶Ûà˜Ûé¶ÛÛ ¸Ûó©ýÛéïõ ¸ÛóÊ¶Û¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà ”ÛÁõÛé …¶Ûé …ÛþùÉÛÙ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : 
 [¼ÛÐäüÈÛíéïõÜÅ¸Ûïõ ¸ÛÍÛ×þù•Ûà¶ÛÛ ¸ÛóÊ¶ÛÛé - ¸Ûó©ýÛéïõ¶ÛÛé 1 •Ûä̈ Û] 14 

 (1) 10 ÍÛ×”ýÛÛ…Ûé¶ÛÛé ¾ÛµýÛïõ 40 ™öé. ›Ûé …éïõ Áõïõ¾Û ½ÛæÅÛ¬Ûà 47 ¶Ûé ¼ÛþùÅÛé 74 ÅÛ”ÛÛˆ •Ûˆ ÐüÛéýÛ, ©ÛÛé 
ÍÛÛ˜ÛÛé ¾ÛµýÛïõ ÉÛÛéµÛÛé. 

   (a) 39.3 (b) 37.3 (c) 36.3 (d) 27 

 (2) ¼ÛÐäüÅÛïõ¶Ûä× ÍÛæªÛ (Z) =  _______ 

   (a) 3
–
X – 2M (b) 2

–
X – 3M (c) 3M – 2

–
X (d) 3M – 4

–
X 

 (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¾ÛµýÛÈÛ©Ûâ ÜÍ¬ÛÜ©Û¶Ûä× ¾ÛÛ¸Û ¶Û¬Ûà ? 

   (a) ¾ÛµýÛïõ (b) ¾ÛµýÛÍ¬Û (c) ¼ÛÐäüÅÛïõ (d) ÜÈÛÍ©ÛÛÁõ 

 (4) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ (r) ¶Ûà Ýïõ¾Û©Û _______  

   (a) r ≥ 0 (b) r > 1 (c) –1 ≤ r ≤ 1 (d) r < 1 

 (5) ›Ûé ¼Ûé ˜ÛÅÛÛé X …¶Ûé Y ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛ µÛ¶Û ÐüÛéýÛ, ©ÛÛé –X …¶Ûé – Y ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛ ïéõÈÛÛé 
ÐüÉÛé ?  

   (a) µÛ¶Û (b) Þô¨Û (c) ÉÛæ¶ýÛ (d) …¶Û×©Û 
 (6) ›Ûé r = –0.6 …¶Ûé b

xy = –1.2 ÐüÛéýÛ, ©ÛÛé byx
 = _________ 

   (a) 0.3 (b) –0.3 (c) 0.2 (d) –0.2 

 (7) ›Ûé ΣIW = 45700 …¶Ûé ΣW = 100 ÐüÛéýÛ, ©ÛÛé œ÷ÈÛ¶ÛÜ¶ÛÈÛÛÙÐü ”Û˜ÛÙ¶ÛÛé ÍÛæ̃ Ûïõ …Û×ïõ ÉÛÛéµÛÛé. 
   (a) 257 (b) 357 (c) 457 (d) 557 

 (8) ›Ûé Σp0q0 = 234 …¶Ûé Σp1q0 = 372 ÐüÛéýÛ, ©ÛÛé ÍÛæ̃ Ûïõ …Û×ïõ (I) = ________ 

   (a) 629 (b) 62.9 (c) 158.97 (d) …Û¾ÛÛõ¶Ûä× …éïõ ¸Û¨Û ¶ÛÜÐü 

 (9) ïõýÛÛé ÍÛæ̃ Ûïõ…Û×ïõ …ÛþùÉÛÙ ÍÛæ̃ Ûïõ…Û×ïõ ™öé ? 

   (a) ÅÛÛÍ¸ÛéýÛÁõ¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ  (b) ¸ÛÛÉÛé¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ 
   (c) ÜºõÉÛÁõ¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ  (d) ÍÛÛþùÛé ÍÛæ̃ Ûïõ…Û×ïõ 

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¾ÛÛéÍÛ¾Ûà ÈÛµÛ–Û¤ø¶Ûä× ŠþùÛÐüÁõ¨Û ¶Û¬Ûà ? 

   (a) Š¶ÛÛÇÛ¾ÛÛ× …ÛˆÍ’õà¾Û¶Ûà ¾ÛÛ×•Û¾ÛÛ× ÈÛµÛÛÁõÛé. 
   (b) ˜ÛÛé¾ÛÛÍÛÛ¾ÛÛ× ™öªÛà¶ÛÛé ½ÛÛÈÛÈÛµÛÛÁõÛé 
   (c) ÈýÛÛ›÷¶ÛÛ þùÁõ¶ÛÛé ÈÛµÛÛÁõÛé 
   (d) Š¸ÛÁõ¶Ûä× …éïõ¸Û¨Û ¶ÛÜÐü 

 (11) ÍÛÛ¾ÛÜýÛïõ ËÛé̈ Ûà¶ÛÛ ïéõ¤øÅÛÛ –Û¤øïõÛé ™öé ? 

   (a) …éïõ (b) ¼Ûé (c) ªÛ¨Û (d) ˜ÛÛÁõ 
 (12) ÍÛÛ¾ÛÜýÛïõ ËÛé̈ Ûà¾ÛÛ× ïõˆ ˜ÛÅÛÁõÛÜÉÛ ÐüÛéÈÛà ºõÁõÜ›÷ýÛÛ©Û ™öé ? 

   (a) ½ÛÛÈÛ (b) ÍÛ¾ÛýÛ (c) ¾ÛÛ×•Û (d) Š©¸ÛÛþù¶Û 
 (13) ’õ¾ÛÛ×ïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûä× ÍÛæªÛ  

   (a) r = 1 – 
6Σd2

n(n2 – 1)
  (b) r =  

6Σd2

n(n2 – 1)
 – 1 

   (c) r = 1 – 
6Σd2

n2(n – 1)
  (d) r = 1 – 

6Σd2

n2 – 1
 

 (14) –Û‹¶ÛÛ ½ÛÛÈÛ¾ÛÛ× –Û¤øÛ¦øÛé …¶Ûé ¾ÛïõÛ¶ÛÛé¶Ûà ¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛ ÈÛµÛÛÁõÛ ÈÛ˜˜Ûé¶ÛÛ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ (r) ¶Ûä× ¾ÛæÅýÛ 
   (a) r = 1 (b) r > 1 (c) r < 1 (d) r = 0 

___________ 



NH2-107 3 P.T.O.  

Seat No. :  _______________ 
  

NH2-107 
December-2015 

M.A., Sem.-III 

505 : Economics 

(EA : Quantitative Methods in Economics – II) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

1. Find Karl Pearson’s coefficient of skewness of the following : 14 

Class 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 

Frequency (f) 10 8 15 35 10 5 12 2 

                       OR 

 (a) State merits and demerits of mean. 

 (b) Write short note on measure of Dispersion 
 

2. Find the regression line of Y on X of the following information. Estimate Y, when X = 40. 14 

X 31 33 35 37 40 39 38 36 

Y 20 26 21 27 34 32 30 23 

      OR 
 (a) Explain the types of Correlation. 

 (b) Calculate coefficient of correlation for the following information : 

Price (`̀̀̀) 20 30 40 50 60 70 80 

Demand (unit) 80 70 60 50 40 30 20 

 
3. Find Proper Index Number from the following information : 14 

Commodities 
Base Year Current Year 

Price (p0) Quantity (q0) Price (p1) Quantity (q1) 

A 2 80 4 60 

B 10 100 12 50 

C 7 140 8 100 

D 4 190 4 130 

                  OR 

 (a) Explain the construction of Index Number. 

 (b) Explain time reversal and factor reversal tests of Ideal Index Number. 

 

4. State merits and demerits of Moving Average method and find three year moving 

average and short time fluctuations of the following : 14 

Year 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 

Selling (`̀̀̀ lakhs) 27 29 34 52 58 64 93 92 98 102 110 

          OR 
 (a) Describe components of the Time series. 

 (b) Explain any one method for find the trend. 
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5. Choose the most correct and ideal answer from the each question of the following : 

 [Multiple choice question – each question carry 1 mark.] 14 

 (1) The mean of 10 numbers is 40. If one number was written 74 instead of 47, then 

find true mean 

   (a) 39.3 (b) 37.3 (c) 36.3 (d) 27 

 (2) Formula of mode (Z) = _________ 

   (a) 3
–
X – 2M (b) 2

–
X – 3M (c) 3M – 2

–
X (d) 3M – 4

–
X 

 (3) Which of the following is not the measure of central tendency ? 

   (a) Mean (b) Median (c) Mode (d) Range 

 (4) The value of coefficient of correlation (r) is  

   (a) r ≥ 0 (b) r > 1 (c) –1 ≤ r ≤ 1 (d) r < 1 

 (5) If correlation between two variables X and Y are positive then what will be the 

correlation between –X and – Y ?  

   (a) Positive (b) Negative (c) Zero (d) Infinite 

 (6) If r = –0.6 and b
xy = –1.2, then byx

 = _________ 

   (a) 0.3 (b) –0.3 (c) 0.2 (d) –0.2 

 (7) If ΣIW = 45700 and ΣW = 100 then find cost of living index number. 

   (a) 257 (b) 357 (c) 457 (d) 557 

 (8) If Σp0q0 = 234 and Σp1q0 = 372 then Index Number (I) = ________ 

   (a) 629 (b) 62.9 (c) 158.97 (d) None of the above 

 (9) Which Index Number is ideal index number ? 

   (a) Laspeyear’s Index Number (b) Passche’s Index Number 

   (c) Fisher’s Index Number (d) Simple Index Number 

 (10) Which of the following is not the example for seasonal fluctuation ? 

   (a) Increase in demand of ice cream in summer 

   (b) Increase in price of umbrella in monsoon 

   (c) Increase in rate of interest 

   (d) None of the above 

 (11) How many components of time series ? 

   (a) one (b) two (c) three (d) four 

 (12) Which variable is compulsory in time series ? 

   (a) Price (b) Time (c) Demand (d) Production 

 (13) Formula of Rank coefficient of correlation is  

   (a) r = 1 – 
6Σd2

n(n2 – 1)
  (b) r =  

6Σd2

n(n2 – 1)
 – 1 

   (c) r = 1 – 
6Σd2

n2(n – 1)
  (d) r = 1 – 

6Σd2

n2 – 1
 

 (14) Value of coefficient of correlation (r) between decrease in price of wheat and 

increase in demand of houses is  

   (a) r = 1 (b) r > 1 (c) r < 1 (d) r = 0 

___________ 
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1. …Û•Û¨Û¶Û Š¸ÛÁõ ÜÈÛÍ©Ûè©Û ¶ÛÛêµÛ ÅÛ”ÛÛé.  14 

     …¬ÛÈÛÛ 
 (a) ¸ÛóïõÛÁõ-I …¶Ûé ¸ÛóïõÛÁ-II ½ÛæÅÛ ÍÛ¾Û›ÛÈÛÛé. 7 

 (b) Z-test ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 7 
 

2. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé : 7 

X 3 4 6 7 10 

Y 9 11 14 15 16 

 (b) Y = α + βxi + Uj ¾ÛÛ× α …¶Ûé β ¶Ûà Ýïõ¾Û©ÛÛé¶Ûä× …Û•Û¨Û¶Û ïõÁõÛé. 7 

X 10 20 30 40 50 60 

Y 100 80 60 50 35 20 

                  …¬ÛÈÛÛ 
 (a) R2 …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 7 

 (b) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé. ©Ûé¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë …¶Ûé Š¸ÛýÛÛé•ÛÛé ÅÛ”ÛÛé. 7 
 

3. ÍÛæ̃ Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? ËÛéÌ¥ø ÍÛæ̃ Ûïõ…Û×ïõ ¾ÛÛ¤éø¶ÛÛ ÍÛ¾ÛýÛ ÜÈÛ¸ÛýÛÛÙÍÛ …¶Ûé ¸Ûþù ÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
ÜºõÉÛÁõ¶ÛÛé ÍÛæ̃ Ûï õ…Û×ïõ …Û ¸ÛÁõà“Û¨ÛÛé ÍÛ×©ÛÛéÌÛé ™öé ©Ûé ÍÛÛÜ¼Û©Û ïõÁõÛé. 14 

                    …¬ÛÈÛÛ 
 ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ýÛÛé•ýÛ, ÍÛæ̃ Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 

ÈÛÍ©Ûä ›÷¬¬ÛÛé (1990) 
½ÛÛÈÛ (`̀̀̀) 

(2010) (1990) 

A 10 12 06 

B 12 10 08 

C 10 06 04 

D 18 08 06 

E 20 06 04 
 

4. (a) ÍÛÛ¾ÛÛÜýÛïõ ËÛé̈ Ûà¶Ûä× ÜÈÛÊÅÛéÌÛ¨Û …é¤øÅÛé ÉÛä× ? ÍÛÛ¾ÛÛÜýÛïõ ËÛé̈ Ûà¶ÛÛ ˜ÛÛÁõ –Û¤øïõÛé ˜Û˜ÛÛë. 7 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ ÍÛÛ¾ÛÛÜýÛïõ ËÛé̈ Ûà¶ÛÛ …ÛµÛÛÁéõ 3 ÈÛÌÛâýÛ ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ¸Û±ùÜ©Û¬Ûà ÈÛÅÛ¨Û ¾ÛéÇÈÛÛé : 7 

ÈÛÌÛÙ 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 

ÈÛé̃ ÛÛ¨Û 
`̀̀̀ ‘000 

15 30 45 75 60 75 105 90 90 120 

           …¬ÛÈÛÛ 
  ÍÛÛ¾ÛÛÜýÛïõ ËÛé̈ Ûà Š¸ÛÁõ ÜÈÛÍ©Ûè©Û ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 
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5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ÈÛíéïõÜÅ¸Ûïõ ¸ÛóÊ¶ÛÛé¶ÛÛ ýÛÛé•ýÛ ›÷ÈÛÛ¼Û ÉÛÛéµÛà¶Ûé ©Ûé¶ÛÛ ºõî©Û Š«ÛÁõÛé ›÷ÈÛÛ¼ÛÈÛÐüà¾ÛÛ× ÅÛ”ÛÛé : 14 

 (1) ÍÛ¾ÛÜÌ¤ø ¸ÛóÛ˜ÛÅÛ¶Ûà Ýïõ¾Û©Û ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ________ ÐüÛéýÛ ™öé. 
   (a) ßÛÛ©Û (b) …ßÛÛ©Û (c) …éïõ (d) ÉÛæ¶ýÛ 
 (2) ¸ÛóÛ˜ÛÅÛ¶Ûà Ýïõ¾Û©Û ÜÈÛÉÛé ËÛéÌ¥ø …×þùÛ›÷ ¸ÛæÁõÛé ¸ÛÛ¦øÈÛÛ¶Ûä× ïõÛ¾Û ________ ¶Ûä× ™öé. 
   (a) …Û•Û¨Ûïõ (b) ¾ÛµýÛïõ (c) ÈÛÅÛ¨Û (d) ÍÛæ̃ Ûïõ …Û×ïõ 

 (3) E(
^
θ) = θ ¬ÛÛýÛ ©Ûé¶Ûé __________ ïõÐéüÈÛÛýÛ ™öé.  

   (a) …¶Û×©ÛÅÛ“Ûà …¶ÛÜ½Û¶Û©Û©ÛÛ (b) …¶ÛÜ½Û¶Û©Û …Û•Û¨Ûïõ 
   (c) ÍÛäÍÛ×•Û©Û …Û•Û¨Ûïõ  (d) …Û¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
 (4) ÍÛ¾ÛÜÌ¤ø ¾ÛµýÛïõ ïõˆ ÍÛ×ßÛÛ¬Ûà …ÛéÇ”ÛÛýÛ ™öé ? 

   (a) 
–
X (b) θ (c) µ (d) 

^
θ 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ ’õ¾ÛÛ×ïõ ÍÛÐüÍÛ×¼Û×µÛ¶Ûä× ™öé ? 

   (a) 
1 – 6Σd2

n(n2 – 1)
 (b) 1 – 







6Σd2

n(n2 – 1)
 (c) 

6Σd2

n3 – n
 (d) …Ûõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü  

 (6) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ ÍÛ×½ÛÜÈÛ©Û þùÛéÌÛ (P.E.) ¶Ûä× ™öé ? 

   (a) P.E. = 
0.6745(1 – r2)

n
  (b) P.E. = 

0.7645(1 – r2)

n
  

   (c) P.E. = 
0.5674(1 – r)

n
  (d) 

6745(1 – r)

n
 

 (7) ¼Ûé ˜ÛÅÛ ÈÛ˜˜Ûé r = 0 ÐüÛéýÛ, ©ÛÛé ¼Ûé ˜ÛÅÛ _________ ïõÐéüÈÛÛýÛ. 
   (a) µÛ¶Û (b) Þô¨Û (c) ÍÈÛ©Û×ªÛ (d) …Ûõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
 (8) ’õ¾ÛÛ×ïõ ÍÛÐüÍÛ×¼Û×µÛ ÉÛÛéµÛ©ÛÛ× Σd2 = 0 ¬ÛÛýÛ, ©ÛÛé r = _________ ¬ÛÛýÛ. 
   (a) –1 (b) ÉÛæ¶ýÛ (c) +1 (d) …Ûõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
 (9) ¼Ûé Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛÛïõÛé¶ÛÛé •Ûä̈ ÛÛïõÛÁõ _________ ¬ÛÛýÛ ™öé. 
   (a) r (b) r2 (c) R (d) R2 

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ þùà–ÛÙïõÛÅÛà¶Û ÈÛµÛ–Û¤ø ™öé ? 

   (a) ÈÛÅÛ¨Û   (b) ¾ÛÛéÍÛ¾Ûà ÈÛµÛ–Û¤ø 
   (c) …Ü¶ÛýÛÜ¾Û©Û ÈÛµÛ–Û¤ø  (d) …Ûõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
 (11) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÈÛÅÛ¨Û ÉÛÛéµÛÈÛÛ¶Ûà ¸Û±ùÜ©Û…Ûé ™öé ? 

   (a) …ÛÅÛé”Û¶Ûà ¸Û±ùÜ©Û  (b) ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà ¸Û±ùÜ©Û 
   (c) ¶ýÛæ¶Û«Û¾Û ÈÛ•ÛÛë¶Ûà ¸Û±ùÜ©Û (d) Š¸ÛÁõÛéî©Û ¼ÛµÛÛ 
 (12) ÍÛ¾ÛýÛ ÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨Û¾ÛÛ× P01 × P10 = _________. 

   (a) 0 (b) –1 (c) 1 (d) …Û¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ ¼ÛÛŠÅÛà¶Ûä× ™öé ? 

   (a) L + P (b) 
L + P

2
 (c) L + P (d) …Û¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐ 

 (14) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ ïéõÅÛà¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ þùÉÛÛÙÈÛé ™öé ? 

   (a) 
ΣP1Q

ΣP0Q
 × 100 (b) 

ΣP0Q

ΣP1Q
 × 100 (c) L × P (d) …Û¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐ 

_____________ 
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1. Write a detail note on estimation. 14 

          OR 

 (a) Explain type-I and type-II errors. 7 

 (b) Write a note on Z-test. 7 
 

2. (a) Find the Karl Pearson’s correlation coefficient from the following data : 7 

X 3 4 6 7 10 

Y 9 11 14 15 16 

 (b) Estimate the value of α and β. Y = α + βxi + Uj. 7 

X 10 20 30 40 50 60 

Y 100 80 60 50 35 20 

                  OR 

 (a) What is R2 ? Explain its importance. 7 

 (b) Give the meaning of regression. Explain its characteristics and uses. 7 
 

3. What is a index number ? Explain the Time reversal test and factor reversal tests in an 

ideal index number and prove that Fisher’s index number satisfies these tests. 14 

                    OR 

 Calculate appropriate index number from the following data : 

Commodity Quantity (1990) 
Price (`̀̀̀) 

2010 1990 

A 10 12 06 

B 12 10 08 

C 10 06 04 

D 18 08 06 

E 20 06 04 
 

4. (a) What is Time series analysis ? Discuss the four components of the time series. 7 

 (b) Find out trend using 3 years moving average method from the following time 

series data.  7 

Year 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 

Sales in 

`̀̀̀ ‘000 

15 30 45 75 60 75 105 90 90 120 

OR 
  Write detail note on Time Series. 14 
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5. Choose the best correct answer for each of the following questions and write only its 

answers in your answer sheet. 14 

 (1) Generally the value of population parameter is __________. 

   (a) known (b) unknown (c) one (d) zero 

 (2) __________ provides the best estimate about value of parameter. 

   (a) Estimator (b) Mean (c) Trend (d) Index Number 

 (3) When E(
^
θ) = θ, it is called __________ 

   (a) Asymptotic unbiasedness (b) Unbiasedness estimator 

   (c) Consistent estimator (d) None of these 

 (4) Which of the following shows population mean ? 

   (a) 
–
X (b) θ (c) µ (d) 

^
θ 

 (5) Which of the following is the formula for rank correlation coefficient ? 

   (a) 
1 – 6Σd2

n(n2 – 1)
 (b) 1 – 







6Σd2

n(n2 – 1)
 (c) 

6Σd2

n3 – n
 (d) None of these  

 (6) Which of the following is the formula for Probable Error (P.E.) ? 

   (a) P.E. = 
0.6745(1 – r2)

n
  (b) P.E. = 

0.7645(1 – r2)

n
  

   (c) P.E. = 
0.5674(1 – r)

n
  (d) 

6745(1 – r)

n
 

 (7) If r = 0 for two variable then the two variable are said to be _________. 

   (a) Positive (b) Negative (c) Independent (d) None of these 

 (8) If Σd2 = 0 in rank correlation then r = _________ 

   (a) –1 (b) zero (c) +1 (d) None of these 

 (9) The multiplication of two coefficients of determination is _________. 

   (a) r (b) r2 (c) R (d) R2 

 (10) Which of the following shows long term variations ? 

   (a) Trend   (b) Seasonal variation 

   (c) Irregular variation  (d) None of these 

 (11) Which of the following is the method for finding out trend ? 

   (a) Graphical method  (b) Moving average method 

   (c) Method of least square (d) All of these 

 (12) In time reversal test P01 × P10 = _________. 

   (a) 0 (b) –1 (c) 1 (d) None of these  

 (13) Which of the following formula given by Bowley ? 

   (a) L + P (b) 
L + P

2
 (c) L + P (d) None of these 

 (14) Which of the following is the index number formula given by Kelly ? 

   (a) 
ΣP1Q

ΣP0Q
 × 100 (b) 

ΣP0Q

ΣP1Q
 × 100 (c) L × P (d) None of these 

_____________ 


